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Bake) | (Bake) | (Bake) | (Bake) | (Bake) | (Ba/ke)
38 7TH11:28:54 299 FlGE EF5NAE 619 V-5 | " <20. 4| <20.4 Tt <8.8 <8.8 FHEHE<11.6] <11.6 BHEER
28 7H10:28:25 2345 = xS 669 V-5 | & <20.9| <20.9 THHE<9.0 <9.0 TEHE<IT.9| <<11.9 | EHE
1H18H10:38:15 294y h=ElE TRy 618 V-5 | & <20.2| <20.2 TR <8.7 <8.7 EHE<I1.5 <11.5 TR
128 8H11:39:30 269> LAYFE KiR 628 V-5 | M <21.0| <21.0 FHHE<9.0 <9.0 FHHE<12.0] <12.0 | EHE
11A10810:21:39 264y L ohiX AS 640 V-5 | & <20.2| <20.2 Tt <8.8 <8.8 TEE<I1.4] <11.4 | EHE
10813H10:31:11 284y ELY = 609 V-5 | R <21.0| <21.0 THHE<9.0 <9.0 THBHE<12.0| <<12.0 | EHE
98 78H10:40:01 264y H<CH L2 X 642 V-5 | " <20.7| <20.7 THHE<9.0 <9.0 TEE<I1.T| <117 | EHE
8H23H11:24:56 284y i FUoT R 651 V-5 | " <19.7| <19.7 TR <8.5 <8.5 FEE<11.2] <11.2 EHFE
6H22H11:31:56 254 |[WFHIEEL E# 664 V-5 | FEH<19.9] <19.9 TRt <8.6 <8.6 FHEHE<11.3] <11.3 RFE
5827810:05:51 259 FlGE TRy 637 V-5 | R <21.0| <21.0 THHE<9.0 <9.0 TEHE<12.0f <12.0 FER
4814810:26:17 304> B Cehrd 628 V-5 | g <19.2| <19.2 TRt <8.3 <8.3 THHE<10.9( <10.9 tigE




